Bapuanr 1

. QmpegenuTe YNMCIO KOPHEH ypaBHEHHUSA:
a) 9x? + 12x + 4 = 0; 6) 2x% + 3x — 11 = 0.
. Pemure ypaBHeHue:

a) x2 - 14x + 33 = 0; 6) —3x* + 10x — 3 = 0;

B) \/33 - 8x =x.
CokpartuTe ApoGh X ;2?_:: 4";)14.

. Pemiure ypaBHenue (11000#i Ha BbIOOP)
x*-10x2+9=0.
(% — 22)> - 2(x*-22)-3=0.

. Pemiure ypaBHeHnue

5¢— 18Jx -8=0

BapuanTr 2
1. OmpepesuTe YUCJIO KOPHEH ypaBHEHUA:
a) 3x% + Tx — 25 = 0 6) 2x2+ x+ 5=0.
2. Pemure ypaBHeHue:
a) x?2 - 11x — 42 = 0;

B) V2x + 15 =x

- Coxparure apobs -3 fzﬁxsf 54

4, Pemnre ypaBHenue (J11000ii Ha BLIOGOP)
x*-13x2+36=0
(Bx2 -4 - 4(3x*-4)-5=0

5. Pemure ypaBHeHue

3x - 2/x -8=0

6) —2x2 — 6x — 2 = 0;



